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1 s T hI—h (PAP) TR Jr=rAF+ (MEP) SBILEYRR kTS
29,541,102,550 15,375,300,001 4,655,250,000 3,266,965,900 1,473,480,000 550,760,400
2 HHE Tz hI—hk (PAP) yamES) Y TN AHx UM FITL (FIL)
28,867,550,834 7,800,540,000 5,529,084,700 4,981,500,000 4,014,090,000 2,142,680,000
2 | =xm TR Tz hI—h (PAP) Jr=pAFAY (MEP) Ax U B Ay
3,719,832,080 1,021,500,000 632,290,000 506,935,000 333,558,000 300,047,450
18 | =mE Jr=FAFFY (MEP) FIILRYY T hI—h (PAP) Ax U i=l=1=70%
4,244,382,246 1,129,003,700 774,000,000 668,860,000 357,264,000 267,234,600
29 | mmE Tz hI—k (PAP) FIILRYY Jr=pAFAY (MEP) Ax U FITL (FIL)
2,098,634,010 556,500,000 344,250,000 280,225,000 137,754,000 135,700,000
17 Wi B e s ] Jr=kAFF (MEP) TR FITL (FIL) Tz hI—h (PAP)
4,335,031,633 1,027,026,000 984,225,000 571,500,000 329,498,000 302,630,000
25 | EEE Jr=haFAY (MEP) EE s FISL (FIL) TR B Ak
2,559,356,795 564,542,000 309,150,000 302,910,000 207,000,000 164,233,350
3 Fia TR i==[=t71)0 Jx=rAFH (MEP) JzUhI—k (PAP) SBILEYRR
23,341,900,504 9,051,750,000 6,172,391,200 1,904,911,800 1,549,720,000 1,339,200,000
15 | xR TR i=1=1=5/1)p Jr=pAFAY (MEP) T hI—h (PAP) b eV
4,935,530,717 1,215,000,000 931,648,350 809,431,700 309,520,000 290,250,000
5 BmER i=1=1=7 > TR Jr=rAF+ (MEP) B Ak JzUhI—k (PAP)
13,462,061,813 5,454,033,750 2,115,000,000 1,934,653,600 907,321,950 868,140,000
9 BEER TR Jr=haFAY (MEP) i=l=1=£71)0 JzUhI—k (PAP) B Ak
9,051,948,223 3,141,000,000 2,185,917,800 851,927,550 696,420,000 523,811,650
4 FER TR i==[=£71)0 Jr=rAF+ (MEP) JzUhI—k (PAP) SBILEYRR
17,454,057,384 10,300,500,000 2,306,489,950 876,988,200 792,350,000 659,280,000
34 | == S ] rJonjLRy (DEP) FIILRYY Jr=pAFAY (MEP) S Ay
1,877,640,163 918,540,000 396,000,000 317,250,000 93,436,200 26,624,350
23 |mza TR Jr=haFAY (MEP) BALT7SIY JzUhI—k (PAP) AH U
2,990,823,755 2,090,250,000 260,231,400 104,760,000 79,500,000 65,178,000
21 | Hae Jr=haFAT (MEP) i=1=1=7 > TR BALT7SIY B Ak
3,888,497,026 951,740,900 513,432,750 504,000,000 369,792,000 225,858,250
35 | =Le Jr=haFAT (MEP) TR r)&a)Liky (DEP) BATSIY VY (RSFFY)
==} 7~
1,754,649,516 654,899,300 342,000,000 132,000,000 101,871,000 92,944,000
33 | mna TR Jr=rAFFY (MEP) i==1=£71)0 rJoojLiky (DEP) b eV
1,903,599,148 488,250,000 433,444,000 271,638,950 168,000,000 91,746,000
45 | =HE Jr=haFAT (MEP) TR BALT7SIY RUISHNT i=1=1=, I
496,893,171 159,137,000 110,250,000 59,157,000 20,655,000 19,207,450
31 MEN:! Jz=haFF (MEP) FOTL (FIL) aLEYHRR AHx UM NRILANIY
2,032,649,411 758,241,000 242,420,000 171,000,000 133,920,000 112,288,000
10 | EmE i=1=1=7 ) Jr=haFAY (MEP) AH U Iz hI—h (PAP) TR
8,404,868,568 1,549,375,400 1,365,980,000 1,191,240,000 880,860,000 657,000,000
27 e TR rd=1=1=k7 1) 0% Zz=hAFF (MEP) B Ay ~)&0)LR (DEP)
2,485,254,640 819,000,000 607,874,050 206,162,000 169,618,050 120,000,000
7 4 18 TR SFIILFHAY Jr=pAFAY (MEP) i=l=1=t71)07 S Ay
10,001,917,537 2,839,500,000 2,739,000,000 1,491,849,700 643,374,350 443,938,600
1| 2ae Jr=haFAT (MEP) 1 hI—h (PAP) TR i=1=17 ) B Ak
6,754,280,967 1,650,432,300 1,362,100,000 873,000,000 575,196,900 317,398,150
28 | == Jr=haFAT (MEP) STITIUFYOY TR BALT7SIY JzUhI—k (PAP)
2,250,659,210 612,828,700 478,500,000 317,250,000 158,301,000 147,340,000
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38 | mme Jx=hAFAT (MEP) TNV Ax U Tz hI—h (PAP) BATO/Y
2 T~
1,238,578,695 427,687,700 191,250,000 107,190,000 102,820,000 69,660,000
a3 | =@ Jr=haFAT (MEP) TR VY (RSFAY) HLT7T/v Iz hI—k (PAP)
670,827,332 300,213,100 112,500,000 43,327,000 30,105,000 27,560,000
37 | KRR Jr=haFAT (MEP) ~J)&a)Lik (DEP) JzUhI— (PAP) TR Sy (RSFFY)
1,270,866,056 460,776,800 264,000,000 133,560,000 117,000,000 45,695,000
32 | BER Jr=FAFFY (MEP) FIILRYY Tz bI—k (PAP) BATS/v S Ay
1,913,567,949 483,808,600 477,000,000 216,240,000 119,664,000 72,693,450
1| =pe Jr=haFAT (MEP) RUISHNT TR Iz hI—h (PAP) LTSI
2 7~
523,139,596 134,772,000 60,384,000 54,000,000 47,700,000 33,993,000
19 | FogriLE Jr=haFAT (MEP) Iz hI—h (PAP) TR i=1=1=, I AFEFH DMTP)
4,117,333,151 1,103,080,000 1,002,760,000 315,000,000 202,824,300 177,320,000
39 | BmE Jr=pEFA (MEP) EE s TR BALT7SIY i=1=1=, I
1,220,802,649 260,260,000 183,870,000 130,500,000 127,764,000 120,062,050
47 | ame Jr=pEFA (MEP) TR Tz hI—k (PAP) BLT7T/Y i=1=1=, I
417,533,381 121,352,000 67,500,000 45,580,000 38,043,000 36,818,950
36 | @LE Jr=haFAT (MEP) ~J)&a)Lik (DEP) JzUhI—k (PAP) HLT7T/ TR
1,528,902,386 645,407,400 120,000,000 110,240,000 93,663,000 90,000,000
16 | EEE Jr=haFAT (MEP) 1 hI—h (PAP) TR BALT7SIY B Ak
4,470,423,866 1,329,650,300 1,122,010,000 398,250,000 304,965,000 204,020,300
4% | woe FIILRYY Jr=FAFFY (MEP) i=l=1=£71)0 B Ay b eV
484,819,802 117,000,000 111,639,000 63,478,100 37,393,750 32,940,000
2% | meE i=1=1=7 > TR LTSI JT=hEFHY (MEP) B Ak
2,495,881,790 1,351,058,700 488,250,000 198,450,000 118,140,000 83,163,700
M =18 Jr=FAFFY (MEP) Tz hI—k (PAP) TR Ax U i=l=1=70%
1,121,366,193 477,928,000 132,500,000 87,750,000 67,770,000 52,976,100
2 | BEe Jr=FAFFY (MEP) <€ (RvED) rJonLky (DEP) i=l=1=t71)07 T5=hILT
1,105,545,539 171,105,000 139,138,450 108,000,000 75,691,100 72,800,000
20 | Zae i==[=£71)0 TR S Ay Jr=rOFF (MEP) Ax U
= ~
4,037,793,333 1,984,237,850 884,250,000 692,233,100 109,472,000 54,378,000
13 | =EE Jr=FAFFY (MEP) FIILRYY Tz hI—h (PAP) Ax U BATSI
6,009,103,486 1,608,492,600 913,500,000 889,870,000 371,142,000 315,873,000
o | EmE TR i=1=1=5/1)p Tz bI—k (PAP) Jr=pAFAY (MEP) b eV
2,914,782,101 819,000,000 643,471,700 477,000,000 279,477,000 123,174,000
14 | EIBER Vi=1=1=7 > TRV Iz hI—h (PAP) AH U EVEST
5,192,299,182 2,034,491,100 1,579,500,000 477,000,000 201,906,000 179,789,150
6 AR T hI—h (PAP) TR i=1=1=7 ) JT=hEFHY (MEP) B Ak
10,895,265,045 4,433,980,000 2,207,250,000 1,195,803,150 731,401,000 469,366,350
10 | xHpE i=l=l=£71V0% Tz hI—k (PAP) Jr=pAFAY (MEP) TR S Ay
1,178,181,154 406,489,350 215,180,000 127,941,000 85,500,000 76,283,250
12 IS TN rd=1=1=k7 1) 0% Iz RI—h (PAP) Zz=hAFFH (MEP) Ha)LEYHRR
6,750,261,119 2,220,750,000 1,653,808,350 1,014,420,000 512,743,000 326,640,000
s |mEEE TR i=1=1=7 ) Jz=hFAFH> (MEP) STITVFHAY JzUhI—k (PAP)
9,866,115,703 3,197,250,000 2,830,501,400 962,445,000 726,000,000 479,650,000
30 | meEE Jr=haFAT (MEP) 1 hI—h (PAP) RUISHNT TR HIVRRIL T 7Y
’ T~
2,088,837,506 890,358,700 260,760,000 244,290,000 164,250,000 122,181,200
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